

فصل 5/1

الإسم :



س ١ : أجمع ما يلي ثم اختر الإجابة الصحيحة :

$= (٥ -) + (٣ -)$ (أ) ٨ - (ب) ٢ - (ج) ٢ + (د) ٨ +	$= ٥ + ٦ -$ (أ) ١١ - (ب) ١ - (ج) ١ + (د) ١١ +
$= (١٢ -) + ١٠$ (أ) ٢٢ - (ب) ٢ - (ج) ٢٢ (د) ٢	$= ٤ + ٩$ (أ) ١٣ - (ب) ٥ - (ج) ٥ (د) ١٣
$= ٣ + (٤ -) + ٨$ (أ) ٧ - (ب) ٧ + (ج) ١٥ + (د) ١٥ -	$= ٧ + (٧ -) + ١٠ +$ (أ) ١٠ - (ب) ١٧ - (ج) ٢٤ + (د) ١٠ +

س ٢ : صل بين كل عبارة ونتائجها الصحيح :

إذا كانت س = ٤ ، ص = ٣ ، ع = ٢ - فإن :

٣ +

س + ص =

١ -

٥ + ع =

١ +

س + ع =

٢ +

س + ص + ع =

